

KARACHI WATER & SEWERAGE BOARD

OFFICE OF THE PROCUREMENT COMMITTEE, KW&SB

BID EVALUATION REPORT

1	Name of Procuring Agency:	KARACHI WATER & SEWERAGE BOARD
2	Tender Reference No:	No.KWSB/DPR/2016/56 published in daily "Dawn", Daily The News, Daily Express", Daily The Nation and Daily "Jang", dated: 28-05-2016 SPPRA Serial No. 29297 I.D No.
3	Tender Description/Name of Work/Item:	PROVIDING & FIXING OF DIESEL OPEERATED PUMPS AT HUB DAM BED
4	Method of Procurement:	Single Stage (One Envelop)
5	Tender Published:	Through Press Publication / SPPRA Web Site
6	Total Bid Documents Sold:	<u>06 Nos.</u>
7	Total Bid Received:	01 No.
8	Technical Bid Opening Date (if applicable):	N/A
9	No. of Bid Technically Qualified (if applicable)	N/A
10	Bid (s) Rejected:	N/A
11	Financial Bid Opening Date:	14-06-2016.

12 BID EVALUATION REPORT

S #	Name of Firm / Bidder	COST OFFERED BY THE BIDDER	RANKING IN TERMS OF COST	COMPARIS ON WITH ESTIMATED COST	REASON FOR ACCEPTANCE / REJECTION	REMARKS
1.	M/s.Meraj Limited & Haji Syed Amir & Bros. (JV).	Rs.281,786,000	1 ST Lowest	@0.713% Above	B.G and other required documents are available. B.G # HMB/KOR/913/2016 dated: 10-06-2016, Rs.56,50,000/= from Habib Metropolitan Bank Ltd, Industrial Area, Korangi Branch Karachi.	Substantially Responsive

The bidder is being informed accordingly.

The R.E Concerned for compliance of Rule-45 of SPPRA 2010 M/s. Meraj Limited & Haji Syed Amir & Bros. (J.V), declared as the responsive bidder by the Committee and recommended for sanction from Competent Authority, KW&SB.

(Saleem Ahmed)

Executive Engineer (Civil) K-IV Project / Member (Tariq/Ansari)
Executive Engineer (E&M)
Deptt. KMC (Representative
of KMC) / Member

(Ghulam Siddique Magsi) Executive Engineer (Hub), KW&SB / Member / Secretary

(Maqsood Ahmed Shaikh)
Superintending Engineer (Civil),

Engineer Deptt. KMC (Representative of KMC) /

Member

(Azam Khan) Dy. Chief Engineer (E&M-Sew),KW&SB /

Convener

Name of Work: PROVIDING & FIXING OF DIESEL OPERATED PUMPS AT HUB DAM BED (PART-I)

SR.			Į	nainanda Enti-		M/S. MERAJ LIMITED & Haji	ITED & Haji
	DESCRIPTION		į	Engineer's Esumate		Sved Amir & Bros (I.V).	ros (I.V).
		Quantity	tity	Rate	Amount	Rate	Amount
1 Prov	Providing and Fixing non-clogging, self-						
prin	priming pump 24" x 24" head upto 40'						
cou	coupled with 400 HP diesel engine having	-	Job	61,302,240.00	61,302,240	60,000,000.00	60,000,000
min	minimum capacity 25000 GPM						
2 Prov	Providign & Fixing non-clogging self-						
prin	priming pump 20" x 18" head upto 40'						
coul	coupled with 210 HP diesel engine having	-	Job	39,080,018.00	39,080,018	55,000,000.00	55,000,000
mini	minimum capacity 18000 GPM						
+							
3 Pro	Providing and Fixing non-clogging, self						
prim	priming pump 14" x 14" head upto 40')	-				
coup	coupled with 160 HP diesel engine having	/	Jobs	31,302,240.00	62,604,480	36,000,000.00 72,000,000	72,000,000
mini	minimum capacity 10000 GPM						
4 Prov	Providing & Fixing non-clogging selr-						
prim	priming pump 10" x 10" head upto 40'	٠	1				
coup	coupled with 80 HP diesel engine having	_	Job	9,080,018.00	9,080,018	9,500,000.00 9,500,000	9,500,000
mini	minimum capacity 3000 GPM						

9

Name of Work: PROVIDING & FIXING OF DIESEL OPERATED PUMPS AT HUB DAM BED (PART-I)

DESCRIPTION		Engir	Engineer's Estimate	ie .	Syed Amir & Bros (J.V).	ros (J.V).
	Quantity	ty	Rate	Amount	Rate	Amount
Manufacturing supplying & Fixing black		+				
steel M.S Pipe made out of M.S sheet						
confirming to API 5L grade X-42 sirally						
welded and external asphalt coated with						
fiber glass 5mm thick (3 layers) and						
internally C.C linning 8 mm thick						
(AWWA) specification i/c laying jointing						
with helical welding in trenches i/c cost						
of bends of any degree and testi ng with						
water specified pressure for different dia						
of pipes as below:-						
(i) 5.6 mm thick (Schedule 40)						
a) $10"\ 30 + 30 = 60$	60.0	Rft	2,363.71	141,822.60	4.000.00	240 000
b) 14' 30 + 30 + 45 + 45 = 150	150.0	Rft	3,110.35	466,552.50	5,500.00	825 000
(ii) 6.4 mm thick (Schedule 40)						0.00
b) 18' - 30'	30.0	Rft	4,489.16	134.674.80	6 500 00	195,000
c) 20' - 60'	60.0	Rft	4,990.19	299.411.40	7 500 00	450,000
(iii) 7.1 mm thick Schedule 40)				3	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	100,000
	120.0	Rft	6,535.30	784,236.00	10,500.00	1,260,000

The state of the s

5

J.

Name of Work: PROVIDING & FIXING OF DIESEL OPERATED PUMPS AT HUB DAM BED (PART-I)

SR.			Į,	rineer's Estimat	D	M/S. MERAJ LIMITED & Haji	ITED & Haji
NO.	DESCRIPTION		Lill	Englicer's Estimate	e	Syed Amir & Bros (J.V).	ros (J.V).
T		Qua	Quantity	Rate	Amount	Rate	Amount
	Providing and Fixing M.S flange made of						
	M.S plate having a thickness and total						
	weight as mentioned against each item it						
	includes the cost of making holes, facing,						
_	welding nuts, bolts, rubber packing white						
0	lead, filter cartage etc. complete.						
	e) 10" 1/2" thick 4.848 Kg	4	Nos.	2,475.00	9,900.00	5,000.00	20,000
	g) 14" 1/2: thick 6.464 Kg	8	Nos.	3,535.00	28,280.00	6,500.00	52,000
	h) 18" 1/2" thick 8.081 Kg	2	Nos.	4,814.00	9,628.00	10,000.00	20,000
		2	Nos.	5,353.00	10,706.00	15,000.00	30,000
Γ	h) 24" 3/4" thick 24.545 kg	4	Nos.	9,828.00	39,312.00	20,000.00	80,000
	Cast Iron Sluice Valve heavy pattern test						
	prerssure 21" kg cm2 or 300 lbs/sq.inch					_	
	imported.						
7	g) 10"	1	No	27,690.00	27,690.00	30,000.00	30,000
	i) 15" (14)	2	Nos	107,250.00	214,500.00	110,000.00	220,000
	k) 20"	1	No.	120,000.00	120,000.00	120,000.00	120,000
	1) 24"	-	No.	196,800.00	196,800.00	200,000.00	200,000
	Refex valve heavy pettern test pressure 21						
	kg/cm or 300 lbs /sq. inch imported						
8	a) 10"	1	No	18,687.00	18,687.00	20,000.00	20.000
	g) 16" (14)	2	Nos	31,250.00	62,500.00	35,000.00	70,000
	h) 20"	1	No.	105,625.00	105,625.00	100,000.00	100,000
	k) 24" (market rate)	1	No.	450,000.00	450,000.00	450,000.00	450,000
					7		

The state of the s

2

S.

Name of Work: PROVIDING & FIXING OF DIESEL OPERATED PUMPS AT HUB DAM BED (PART-I)

SR.	DESCRIPTION		En	Engineer's Estimate	(5)	M/S. MERAJ LIMITED & Haji Syed Amir & Bros (J.V).	ITED & Haji ros (J.V).	
70.		Quantity	tity	Rate	Amount	Rate	Amount	
	Providing and Fixing M.S Bend							
	with thi							
	outer length and total rate as mentioned							
	size							
	a) 10"	2	Nos	6,765.00	13,530	15,000.00	30,000	
	Thickness 1/4"							
	Outer length 3.929							
	Weight 39.68 Kg							
	b) 15" (14)	4	Nos	13,699.00	54,796	25,000.00	100,000	
0	Thickness 3/8"							
,	Outer length 3.929							
	Weight 18.355 kg							
	c) 18"	2	Nos	19,727.00	39,454	30,000.00	00,000	
	Thickness 3/8"							
	Outer length 4.714'							
	Weight 115.711 kg							
	e) 21" (20")	1	No.	26,851.00	26,851	36,000.00	36,000	
	Thickness 3/8"							
	Outer length 6.286'							
	Weight 205.708 Kg							
	d) 24"	2	Nos	35,070.00	70,140	60,000.00	120,000	
	Thickness 3/8"							
	Outer length 5.5"							
	Weight 115,711 Kg							
					The second secon			

The state of the s

2

The Start

Name of Work: PROVIDING & FIXING OF DIESEL OPERATED PUMPS AT HUB DAM BED (PART-I)

10 SR.	(i) Fuel tank capacity 16000 liter made of MS plate 10 mm thick having size inner dia 7" and length 15' total area = 374 sq. ft Total weight = 2734 Kg (ii) Angled iron 2" x 2" x 1/4"	Quantity 2734 K 116 R	± 60 1	Rate 85.00 71.50	l o	Amount 232,390 8,294	M/S. MERAJ LIMITED & Haji Syed Amir & Bros (J.V). Amount Rate Amount 232,390 300.00 820,200 8,294 375.00 43,500
	(ii) Angled iron 2" x 2" x 1/4" iii) Welding rod # 10 & 12 iv) Flanges for opening on top + discharge valves 2" dia	116 5000 1	Rft Each Set	71.50 10.00 15,000.00		8,294 50,000 15,000	30,
	v) Welding machine heavy duty 1 No for 15 days						
	vi) Labour	15	days	2,500.00		37,500	37,500 2,500.00
	a) Welder 2 Nos for 15 days	30	days	350.00		10,500	
	b) Helper 8 Nos for 15 days	120	days	250.00		30,000	
11	Portable container (Air Conditioned) for staff fully furnished 20" x 10"	1	No.	1,500,000.00		1,500,000	1,500,000 1,000,000.00
12	Transportation Charges on 40' traller from pump house to hub dam and back to the city	1	Job	400,000.00		400,000	400,000 600,000.00
	TOTAL				15	177,675,536	7,675,536

(Saleem Ahmed)
Executive Engineer (Civil) K-IV
Project / Member

(Maqsood Ahmed Shaikh)
Superintending Engineer (Civil)
Engineering Deptt. KMC / Member

(Tafiq Ansari)
Executive Engineer (E&M) Deptt.
KMC / Member

(Ghulam Siddique Magsi)
Executive Engineer (Hub), KW&SB /
Member / Secretary

(Azam Khán)

Deputy Chief Engineer (E&M-Sew), KW&SB / Convener

Name of Work: PROVIDING & FIXING OF DIESEL OPERATED PUMPS AT HUB DAM BED BASED ON SCHEDULE RATE G..S.2011 & 2012 (PART-II)

SR.	DESCRIPTION		Eng	Engineer's Estimate	ite	M/S. MERAJ LIMITED & Haji Syed Amir & Bros. (J.V)	& Bros. (J.V)	
		Quantity	ntity	Rate	Amount	Rate	Amount	
1	Shade for Pumping Area							
	a) G.I Pipe 3" dia (Sch. Rate)	465	Rft	360.40	167 586	500.00	222 500	
	b) Angle Iron 1 1/2" x 1 1/2" x 3/16"			1	201,000	500.00	202,000	
	(Sch. Rate)	6,587	Rft	85.00	559,895	275.00	1,811,425	
	c) M.S Plate 6 mm thick	4,250	Κρ	85.00	361.250	250.00	1 062 500	
	d) Nuts & bolts (different size)	75	K _Q	100.00	7.500	250.00	18 750	
	e) Green cloth (Fiber glass)	2,700	Sq.Ft	25.00	67.500	200.00	540,000	
	f) Fabrication	355	P/Cwt	2,117.50	751,712.50	5,000.00	1,775,000	
2	Construction of Water Channel							
	a) Hire Charges of Chain Type Excavator	168	P/Hrs.	1,200.00	201,600.00	4,000.00	672,000	
	b) Hire Charges of Front End Loader	168	P/Hrs.	3,088.13	518,805.84	4,000.00	672,000	
	c) Hire Charges of Wheel Excavator	168	P/Hrs.	800.00	134,400.00	4,000.00	672,000	
3	Platform / Jety.							
	sand Haro	11,200	% Cft	2,425.00	271,600.00	4,000.00	448,000	
			_					

5

2

S

Name of Work: PROVIDING & FIXING OF DIESEL OPERATED PUMPS AT HUB DAM BED BASED ON SCHEDULE RATE G..S.2011 & 2012 (PART-II)

SR.	R. DESCRIPTION		En	Engineer's Estimate	te	M/S. MERAJ LIMITED & Haji Syed Amir & Bros. (J.V)	& Bros. (J.V)	
		Quantity	tity	Rate	Amount	Rate	Amount	
4	Fabrication of heavy steel work with					-		
	angles, tees, flat iron, round iton and steel							
	iron for making trusses, girders, tands etc							
	inncludign cutting, tanks etc. includign	188.66	Cwt	4.928.49	929 808 97	6 250 00	1 170 125	
	cutting drilling rivetting, handlign				j		1,1/7,125	
	erection in position.							
5	Wooden Plank	455	Cft	4,500.00	2.047 500 00	8 500 00	3 867 500	
	a) Wooden plank (Labour) 10 labour	- 1			, , , , , , , , ,	0,000,00	2,001,500	
	for one week	70.0	P/Day	250.00	17,500.00	5,000.0	350,000	
	b) Sand bags for bank	5,500.0	each	69.85	384 175 00	400.00	2 200 000	
	c) Sand bags for bank (labour) 10			0	201,112.00	$\overline{}$	2,200,000	
	laboru for one week	70.0	P/Day	250.00	17,500.00	5,000.00	350,000	
	TOTAL				6.438.333		15 850 800	

(Saleem Ahmed)
xecutive Engineer (Civil) I

Executive Engineer (Civil) K-IV
Project / Member

Superintending Engineer (Civil) Engineering Deptt. KMC / Member

(Maqsqod Ahmed Shaikh)

(Tarid Ansari)
Executive Engineer (E&M) Deptt.
KMC / Member

(Ghulam Siddique Magsi) Engineer Engineer (Hub), KW&SB / Member / Secretary

/ Member

(Azam Khan)

Deputy Chief Engineer (E&M-Sew), KW&SB

/ Convener

Name of Work: PROVIDING & FIXING OF DIESEL OPERATED PUMPS AT HUB DAM BED (PART-III)

-	SR.	DESCRIPTION		Engir	Engineer's Estimate		M/S. MERAJ LIMITED & Haji Syed Amir & Bros (J.V)	* Bros (I.V)	
-			Qu	Quantity	Rate	Amount	Rate	Amount	
\dashv									
	1 Fue	Fuel Consumption of pumps							
	1 x :	1 x 24" 80 Lit/Hr 1920 Lit/ day							
	1 x :	1 x 20" 50 Lit/Hr 1200 lit/day							
	2 x	2 x 14" 30 Lit/Hr 1440 Lit/day							
	1 x	1 x 10" 20 Lit/hr 480 Lit/ day							
	Tota	Total = 540 Lit/day							
	Mor	Monthly consumption = 5040 x 30 =							
	1512	151200 lit/month (for 80 MGD) for 50 94,500	94,500	P/Lit	75.00	7,087,500.00	120.00	11,340,000	
	MG	MGd = 94500 Lit/month				9			
	2 Oil	Oil Consumption							
	24"	24" 150 Litters							
	20"	150 litters							
	14"	150 Litters	1,350	P/Lit	500.00	675,000	1.750	2.362.500	
	10"	10" 75 Littrs				Э		,	
	Mair	Maintenance required every 15 days i.e.							
	Twi	Twice a month							
П	675	675 Litres x 2 = 1350 Litres.							
_									
	011	Oil Filter + Diesel Filter and other							
	acce	accessory @ 3000/pump	1	1		10 51 52 53			
	For	For 2 times = $6000 / \text{pumps}$	U	Pumps	6,000.00	30,000	9,000	45,000	
_	for 5	for 5 pumps = 30000							
	-								

3

1

h

Name of Work: PROVIDING & FIXING OF DIESEL OPERATED PUMPS AT HUB DAM BED (PART-III)

/	619,26,000	15481500 x 4 = 619,26,000					1	
	15,481,500	per month	8,625,000				TOTAL	
	24,000	800.00	24,000.00	800.00	Days	30	Staff Transportation from & to resident house to site for 8 preson per day	7
								Π
	100,000	100,000.00	30,000.00	30,000.00	No.	1	Resident house for staff accommodation	6
								Γ
	200,000	100,000.00	150,000.00	75,000.00	No.	2	Generator 6 KVA for lighting arrangement at labour camp.	5
	288,000	9,000.00	288,000.00	9,000.00	P/Head	32	For $30 \text{ days} = 300 \text{ x} \ 30 = 9000$	Τ
							day	
							Food allowance Rs.300 per hed per	4
	90,000	1,000.00	22,500	P/Day	250.00	90	0 Driver 3 Nos per month	
	120,000	1,000.00	30,000	P/Day	250.00	120	0 Watchmen 4 Nos per month	
	240,000	1,000.00	60,000	P/Day	250.00	240	0 Helper 8 Nos per month	
	144,000	1,200.00	42,000	P/Day	350.00	120	0 Electrician 4 Nos per month	
	144,000	1,200.00	42,000	P/Day	350.00	120	0 Mechanic 4 Nos per month	
	120,000	1,000.00	48,000	P/Day	400.00	120	0 Foreman 4 Nos per month	
	144,000	1,200.00	36,000	P/Day	300.00	120	0 Operators 4 Nos per month	
	120,000	4,000.00	60,000	P/Day	2,000.00	30	0 Residenet Engineer 1 No. per month	
				Unit	Rs.	Days	Manpower:	w
	Amount	Rate	Amount	Rate	Quantity	Qu		
	& Bros (J.V)	Haji Syed Amir & Bros (J.V)		Engineer's Estimate	Engin		DESCRIPTION	NO.
	JMITED &	M/S. MERAJ LIMITED &		-			,	

(Saleem Ahmed)

Executive Engineer (Civil) K-IV
Project / Member

(Maqsodd Ahmed Shaikh)
Superintending Engineer (Civil)
Engineering Deptt. KMC / Member

musily 1

(Tariq Ahsari)
Executive Engineer (E&M)
Deptt.KMC / Member

(Ghulam Siddique Magsi)
Executive Engineer (Hub), KW&SB /
Member / Secretary

(Azam Khán)
Deputy Chief Engineer (E&M-Sew),
KW&SB / Convener

NIT No. SPPRA Serial No.29297

Method and procedure of procurement: <u>Open Competitive Bidding (National/ International Competitive Bidding)</u> (Single Stage-One Envelope)

Description of work:

PROVIDING & FIXING OF DIESEL OPEERATED PUMPS AT HUB DAM

BED

Date of Opening:

14-06-2016

BIDDERS' ELIGIBILITY/ QUALIFICATION REPORT

Eligibility/ Qualification Criteria:

		Bidders' Nar	ne
S. No.	Eligibility / Qualification Criteria	M/s. Meraj Limited & Haji Syed Amir & Bros. (JV)	
1.	Registration with PEC.	Yes	
2.	NTN	Yes	
3.	Sales Tax Registration	Yes	
4.	Registration with Sindh Revenue Board (SRB)	Yes	
	Qualification Criteria:		
5.	Minimum three years' experience of relevant field.	Yes	
6.	Turnover of at least last three years	Yes	
7.	Required Bid Security is attached.	Yes	
8.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization letter.	Yes	
9.	Any other factor deemed to be relevant by the procuring agency subject to provision of Rule-44	N/A	
10.	Qualified/ disqualified	Qualified	

(Saleem Ahmed)

Executive Engineer (Civil) K-IV
Project / Member

(Tariq Ansari)

Executive Engineer (E&M)
Deptt. KMC
(Representative of KMC) /
Member

(Ghulam Siddique Magsi)

Executive Engineer (Hub), KW&SB / Member / Secretary

(Azam Khan)

Dy. Chief Engineer (E&M-Sew),KW&SB /

Convener

(Magsood Ahmed Shaikh)

Superintending Engineer (Civil),
Engineer Deptt. KMC
(Representative of KMC) /
Member

NIT Sr. No. SPPRA Serial No.29297

Method of Procurement:

Single Stage Single Envelope.

Name of Work:

PROVIDING & FIXING OF DIESEL OPEERATED PUMPS AT HUB DAM BED

MINUTES OF BID OPENING MEETING.

A meeting of the procurement committee of this department was held on 15-06-2016 for opening the bids received in respect of subject NIT till deadlines of submission. The meeting was attended by all / following members of the procurement committee and the representative of bidder.

(Attendance sheet is enclosed).

- 2. One bidder submitted his bid till the deadline of submission.
 - i. M/s. Meraj Limited & Haji Syed Amir & Bros. (J.V)
- 3. The bid was opened at 11:30 A.M in the presence of the representatives of M/s. Meraj Limtied & Haji Syed Amir & Bros. (JV), and the rates quoted by bidder was read aloud and encircled by the Convener of the Procurement Committee.

S. No	Name of Firm	Quoted Price	Amount of Bid Security	Pay Order No. / Date	
1.	M/s.Meraj Limited & Haji Syed Amir & Bros. (JV)	Rs.281,786,000	Rs.56,50,000/=	B.G and other required docume available. B.G # HMB/KOR/913/2016 date 06-2016, Rs.56,50,000/= from Metropolitan Bank Ltd, Indus Area, Korangi Branch Karach	ed: 10- Habib trial

4. The bid do not contain any over-writing or cutting.

5. The committee examine single bid as per the qualification / eligibility criteria provided in the bidding document and verify the documents and bid security submitted by the bidder. The meeting ended with the vote of thanks to end from the chair.

(Saleem Ahmed)

Executive Engineer (Civil) K-IV
Project / Member

(Tariq Ansari)

Executive Engineer (E&M) Deptt. KMC (Representative of KMC) /

Member

(Ghulam Siddique Magsi)

Executive Engineer (Hub),

KW&SB / Member / Secretary

(Azam Khan)

Dy. Chief Engineer (E&M-Sew),KW&SB / Convener

(Maqsood Ahmed Shaikh

)Superintending Engineer (Civil), Engineer Deptt. KMC (Representative of KMC) / Member



SUBJECT: Providing & Fixing Of Diesel Operated Pumps At Hub Dam Bed

Ô		ON 14.06.2016 AT 11.00 AM AT CON	ON 14.06.2016 AT 11.00 AM AT COMMITTEE ROOM BLOCK "C" KW&SB	
	DATE OF OPENING:			
	TIME OF OPENING:			
S/NO	NAME OF BIDDER		TELEPHONE #	SIGNATURE
-	Merry limited (T.V)		0301-8200956	Souther Fourtain Knowled
2			1	
w				
4				
5		Only one	farticipant.	
5				
7				
œ				
9				
10				
	*	The Old		3
	De low Sware.	446 126. M. TARIA ANSME!	Sween Al RE Lix	Ay own When.
	Fexality Engress			



No. M(A-III)/SPP A/K-___(29297-KW&SB)/2015-16/ 336 GO'/ERNMENT OF SINDH

SINDH PUBLIC PROCUREMENT REGULATORY AUTHORITY

Karachi, dated the

August, 2016

To,

The Resident Engineer,

Hub Pumping Division,

Hub Pumping Station, Near Karam Ceramics,

Manghopir Road, Karachi Water & Sewerage Board,

Karachi.

Subject:

NIT NO. RE/HUB PUMPING/KW&SB//2016/162, Dated 30-05-2016.

The undersigned is directed to refer to the Notice Inviting Tender vide your office letter No. RE/HUB PUMPING/KW&SB//2016/162, Dated 30-05-2016 and Bid Evaluation Report (BER) furnished vide your office letter No. RE/HUB/E&M-W/KW&SB/2016/172, Dated 20-06-2016 and to inform that BER has not been hosted on this authority's website as bid evaluation report has been signed by Mr. Ghulam Siddique Magsi, NEX, Hub instead of Syed Manzoor Yameen S.E Hub.

- i. Besides, it has been observed that bids have not been evaluated as per criteria mentioned in the BDs which gives the impression that PA has changed the criteria of the publication.
- 2. In view of the above, the procuring agency has advised to furnish requisite documents along with clarification and take appropriate action for rectifying. It may be noted that compliance of SPP Rules 2010 (amended 2013) is the sole responsibility of procuring agency.

Assistant Director (Assessment

Copy forwarded for information to:-

✓ The Managing Director, Karachi Water & Sewerage Board, Karachi.

✓ The Staff Officer to MD, SPPRA.



GOVERNMENT OF SINDH SINDH PUBLIC PROCUREMENT REGULATORY AUTHORITY

Karachi, dated the

July 2016

To.

The Resident Engineer,

Hub Pumping Division.

Hub Pumping Station, Near Karam Ceramics,

Manghopir Road, Karachi Water & Sewerage Board,

Karachi.

Subject:

NIT NO. RE/HUB PUMPING/KW&SB//2016/162, Dated 30-05-2016.

The undersigned is directed to refer to the Notice Inviting Tender vide your office letter No. RE/HUB PUMPING/KW&SB//2016/162, Dated 30-05-2016 and Bid Evaluation Report (BER) furnished vide your office letter No. RE/HUB/E&M-W/KW&SB/2016/172, Dated 20-06-2016 and to inform that BER has not been hosted on this authority's website without ID. provisionally. However, it has been observed that::-

i. PA has mentioned different Eligibility / Evaluation Criteria in NIT and B QR which may be clarified from P.A.

Eligibility / evaluation criteria mentioned in the NIT

Relevant experience 05 year

ii. Turnover Last 05 Years

Eligibility criteria mentioned in the bidders Eligibility Qualification

Years' experience of relevant

Turnover of at least last 03

ii. P.A has furnished BER signed by P.C members but one member has been changed with Syed Manzoor Yameen (S.E.) Hub KW&SB and BER signed by Chualm Siddique Magsi, XEN (Hub) without furnishing revised notification of Procurement Committee which is required by P.A.

ii.

2. In view of the above, the procuring agency is advised to orrect observations (clarifications) infirmities in their further procurements / NITs in letter and spirit. It may be noted that compliance of and SPP Rules 2010 (amended 2013) is the sole responsibility of procuring agency.

Assistant Director (Assessment)

ther. Pa has changed the the philippin.

Copy forwarded for information to:-

- ✓ The Managing Director, Karachi Water & Sewerage Board, Karachi.
- ✓ The Staff Officer to MD, SPPRA.

An BE Bod Enhation Report has seen signed by.

Mr. Ghulam Siddigw Magsi, XEN, & Hub in Steal of Ass. Syed

Mawyor yamen, & E. Hubs.

Block-8, Sindh secretariat 4-A, Court Road, Karachi. Phone: 021-99205356. Fax: 021-99206291 www.pprasindh.gov.pk

2. Besides, it has been tosserved that the BDs, which gives the impression



KARACHI WATER & SEWERAGE BOARD OFFICE OF THE CONVENER PROCUREMENT COMMITTEE/P.D HUB DAM PROJECT

BLOCK "B" 9TH MILES KARSAZ SHAHRAH E FAISAL KARACHI

No: CPC/PD/HDP/KWSB/2016/ 860/A

Dated: 03.06. 2016

The Manager (ENF)

Govt. of Sindh (Sr. 2929

"PROVIDING AND FIXING OF DIESEL OPERATED PUMP AT HUB DAM BED."

SUB:- ADDENDUM NO.1

Enclosed please find herewith an addendum No.1 of above work /scheme. It is submitted for your information and further process please.

The said addendum No.1 is already hoisted at KW&SB official website.

Project Director/Convener Procurement committee, Hub Dam project, KW&SB

Subject:

Providing & Fixing Of Diesel Operated Pumps At Hub Dam

Bed

ADDENDUM NO.1

In Continuation to the Bidding Document for the above work Addendum No.1 regarding "Time of Completion" is hereby issued on 03-06-2016

This Addendum shall constitute as an integral Part of the Bidding Document and shall be read as follows:

Ref: Page 80, of Preamble to condition of contract, Sub Clause <u>Time of Completion:</u>1.1.35. is deleted entirely and shall be replaced & read as mentioned at Page #110, of Bidding Document Under Chapter "General Condition Of Contract" in Sub Clause 25.1 under heading of <u>Time of Completion</u>: as Follows:

"The work shall be completed and shall have passed the Tests on Completion within the 15 days. While Operation & Maintenance as per schedule III valid for 120 days subjected to need of pumping to lift of Water from Hub Dam."

Convener Procurement Committee

_	_		
Received	R.v.		
neceiveu	DV.		0.00



KARACHI WATER & SEWERAGE BOARD OFFICE OF THE DEPUTY CHIEF ENGINEER (E&M-SEW)

Block-"B" 9th Mile Karsaz, Main Shahrah-e-Faisal Karachi

CORRIGENDUM

The Notice Inviting Tender has been published and hoisted on Authority's Website of SPPRA vide **Sr.No.29297** on SPPR Authority's Website the tender for the work of "**Providing & Fixing of Diesel Operated Pumps at Hub Dam Bed**" published vide NO.KW&SB/DPR/2016/ in Daily The News, Daily Dawn, Daily Express, Daily The Nation and Daily Jang dated: 28-05-2016.

The venue for submission of tender documents may be read as Office of the Deputy Chief Engineer (E&M-Sew), Block-"B" 9th Mile Karsaz, Shahrah-e-Faisal Karachi instead of Project Director, 100 MGD Dhabeji & Incharge Hub Dam Project Block-"C" 9th Mile Karsaz Shahrah-e-Faisal. The time for submission of tender documents is 11.00 am instead of 2.30 pm and will be opened at 11.30 am instead of 3.00 pm on 14-06-2016 (same day).

Tender / bidding documents can be downloaded from Authority's website of SPPRA.

Rest of terms & conditions remain the same.

DEPUTY CHIEF ENGINEER (E&M-SEW) K.W.&.S.B.

To, The Director Public Relations, Karachi Water & Sewerage Board, Karachi.



KARACHI WATER & SEWERAGE BOARD

OFFICE OF THE EXECUTIVE ENGINEER (HUB)

NO.EE/HUB/E&M-W/KW&SB/2016/244

Dated: 01 /08 /2016.

The Director Capacity Building, Sindh Public Procurement Regulatory Authority(SPPRA), Government of Sindh, Block-8, Sindh Secretariat # 4-A. Karachi.

SUBJECT:- SUBMISSION OF REVISED OFFICE ORDER PROCUREMENT COMMITTEE AND CORRECTED BIDDERS' **ELIGIBILITY / QUALIFICATION REPORT FOR THE** WORKS OF "PROVIDING & FIXING OF DIESEL **OPEERATED PUMPS AT HUB DAM BED"**

Reference: Serial No. 29297.

With reference to above referred subject, the revised Office Order of Procurement Committee issued vide No.KW&SB/SR.DIR/HRD&A/678 Dated: 1st July, 2016 and correct Bidder's Eligibility / Qualification Report which was mistakenly typed "Three Years" instead of "Five Years".

This office is awaiting and requested to expedite the process for uploading of Bid Evaluation Report as per Rule-45 of SPP Rules-2010, so that the remaining codal formalities could be completed accordingly.

> EXECUTIVE ENGINEER (HUB) E&M-WATER, KW&SB / SECRETARY PC

Copy for information to :-

1. The Chief Engineer (E&M-Sew), KW&SB.

2. The Dy. Chief Engineer (E&M-Water), KW&SB.

The Superintending Engineer(P&F-III), KW&SB. 3.

4. Office Copy.







KARACHI WATER & SEWERAGE BOARD

HUMAN RESOURCES DE VELOPMENT AND ADMINISTRATION DEPARTMENT PHONE NO. 021 − 99231464 − (Fax) 021 − 99231463

No. KW&SB/SR. DIR./HRD&A/678

Dated: 1ST July, 2016

OFFICE ORDER

In pursuance of office order No. KW&SB/SR. DIR./HRD&A/484, dated 3.5.2016, regarding constitution of Procurement Committee pertaining to supply of upto 50 MGD water through pumping from Hub Dam BED, Mr. Ghulam Siddique Magsi, Executive Engineer (Hub) is allowed to work as Member / Secretary of the committee w.e.f. 13.6.2016 in place of Syed Manzoor Yameen, S.E. (Hub), KW&SB.

This issues on the recommendation of Dy. Chief Engineer (E&M-Sew), and with the approval of Managing Director, KW&SB vide para 3/N.

SR. DIRCTOR (HR)

DISTRIBUTION

- 1. Dy. Managing Director (TS) KW&SB
- 2. Project Director (Dhabeji), Incharge, Hub Dam Project.
- 3. Project Director, K-IV Project, KW&SB
- 4. Chief Engineer (E&M-Water & Sew) KW&SB
- 5. Dy. Chief Engineer(E&M-Sew), KW&SB/Convener, KW&SB
- 6. S.E. Hub. KW&SB
- 7. Mr. Saleem Ahmed E.E. (Civil), K-IV Project/Member
- 8. Mr. Maqsood Ahmed Shaikh, S.E. (Civil) Engg: Dept:, Representative of KMC / Member.
- 9. Mr. Tariq Ansari, E.E. (E&M) Department, Representative of KMC/Member
- 10. Mr. Ghulam Siddique, Magsi, E.E. (Hub)/Member/Secretary
- 11. Sr. Director (Finance) KW&SB
- 12. Director (I&C) M.D. Secretariat, KW&SB
- 13. AD (LFA) KW&SB
- 14. AO (ESTT) KW&SB
- 15. Office Copy.
- 16. Master File.

c.c. to Managing Director, KW&SB

Ghulam Sidol

NIT No. SPPRA Serial No.29297

Method and procedure of procurement: Open Competitive Bidding (National/ International Competitive Bidding) (Single Stage-One Envelope)

Description of work:

PROVIDING & FIXING OF DIESEL OPEERATED PUMPS AT HUB DAM

BED

Date of Opening:

14-06-2016

BIDDERS' ELIGIBILITY/ QUALIFICATION REPORT

Eligibility/ Qualification Criteria:

		T		
			Bidders' Name	
S. No.	Eligibility / Qualification Criteria	M/s. Meraj Limited & Haji Syed Amir & Bros. (JV)		
1.	Registration with PEC.	Yes	_	-
2.	NTN	Yes	_	
3.	Sales Tax Registration	Yes	_	
4.	Registration with Sindh Revenue Board (SRB)	Yes	_	
	Qualification Criteria:		_	
5.	Minimum five years' experience of relevant field.	Yes	_	
6.	Turnover of at least last five years	Yes	_	
7.	Required Bid Security is attached.	Yes	-	
8.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization letter.	Yes	-	
9.	Any other factor deemed to be relevant by the procuring agency subject to provision of Rule-44	N/A	_	
10.	Qualified/ disqualified	Qualified	- ,	

(Saleem Ahmed)

Executive Engineer (Civil) K-IV Project / Member

(Magsood Ahmed Shaikh)

Superintending Engineer (Civil), Engineer Deptt. KMC (Representative of KMC) / Member

(Tariq Ansari)

Executive Engineer (E&M) Deptt. KMC

(Representative of KMC) / Member

(Ghulam Siddique Magsi)

Executive Engineer (Hub), KW&SB / Member / Secretary

(Azam Khan)

Dy. Chief Engineer (E&M-Sew), KW&SB /

Cønvener